MHR

IRAR A & A& H |ZVHE|ZEEHE| BRE 5 &
e
Bo/KEMET |HPPE(EFZOMHAZEE) L=5.00m ¢ 100 X 7 35m 7 E% (5%0m)
HPPE (EFZ Ot A ZEE) L=5.00m ¢ 50 V. 1 2.0m7 5% (5%3.0m)
HPPE(E%) L=5.00m ¢ 100 y.N 4 17.1m#E%(5%2.9m)
HiVP L=4.00m 50 y.N 0 1.0m#ER XM XA
HiVP L=4.00m 40 y.N 76 302.6m# % (5%1.4m)
RURAANEE ¢ 100 X 45° & 3
ERERANEHEPXV) ¢ 100 x 45° 1 1
PED3A/ b ¢ 100 1& 3
PVIaq Tk ¢ 100 & 1
BRVSTaqAok ® 50 x ¢ 40 & 1
vsSTaquk 40 & 1
EFmSA~UR ¢ 100 % 45° & 1
EFf&F—X $100x ¢p100 | f& 1
LTa—4 @ 100X ¢ 50 & 1
RUBAANIZUD ¢ 100 1@ 1
TIUOMFM ® 100 1 1
HivV 4k 40 1@ 75
BRI —b W=150S m 358.8 348.6+8.2+2.0
TUHRHRET |FRELTFHF ¢ 50 = 1
BRLCAVryk(P) ®50 1@ 1
BRLAVTIR(V) ®50 1@ 1
o= H=600 #H 1
HKERET |JHKE 675 = 1
WiEFH H=100 b75 = 1
RUAANBISOOHEMTFEE $100%x ¢ 75 1& 1
TIUOMFM 675 1 2
HRREE H=600 A 1




koL FRIER STk GRUBR) | ¢ 100 X ¢ 20 & 1 a7 — K
RUIFLUNAT(158) 2BE 20 m 1.0 1.0mx 144
KERAZBESBMT PERT BEER 20 & 1 —{KE! (Hi-GNft)

EZILERAYRILAKEE $40%x ¢ 20 & 5
EZILERYRILSKEE d40x ¢ 25 1& 1
SKXFyhtF—X $40x ¢30 & 1
ISRAYaqArk 20 & 5
ISARDaqArk 25 & 1
HiVP  L=4.00m 20 y:N 2 9.5m#aE%(0.5m X 144+1.5m X 5¢4)
HiVP  L=4.00m ¢ 25 x 1 1.5m#ER(1.5m x 144)
HiVP  L=4.00m ¢ 30 x 1 1.5m#ER(1.5m x 144)
HiTJLAR ¢ 20 & 12
HiT /LA ®25 1& 2
HiT /LA ®30 1& 2
HiV vk ¢ 20 & 5
HiV vk ¢ 25 & 1
HiV vk ¢ 30 & 1
BRI —b W=150S m 8.0 1.0m x 844




$100 HPPE B /K % B & £ (LFH

PEE (m) DIH*NT]
BB B & |0 ERE S | I i
5
z.-1 Z.-2 Z.-3 Z.—4 -5 D—@ (A)
HPPE 100 5. 000 3.500 1. 500 5. 000 1 1
(=g
HPPE 100 5. 000 3. 000 2. 000 5. 000 1 HPPE
HPPE 100 5. 000 1. 900 1. 800 3. 700 1. 300 2
HPPE 100 5. 000 1. 000 1. 000 0. 700 0. 700 3. 400 1. 600 4 HRR= 100
HEE|  5.000
i 20. 000 9. 400 6. 300 0. 700 0. 700 17. 100 2.900 8

20. 000 9. 400 6. 300 0.700 0.700 17.100 2.900 8. 000



FHEE

BRAR B 2 g Hfg| Z9%E | £EH#HE 1K iH &
LIFH#R
BKERHZTLT |RUIFLUERBRT @100 m 52.1 35.0+17.1
RUIFLUERKRT @50 m 2.0
E-ILERERT @50 m 1.0
E-ILEMERT ® 40 m 302.6
RUTFLUOERFT (REES) $100 1O#F | 0O 12 7+5
RUTFLUOERFT (REES) | 650 10#F | O 1
RUIFLUEYMRT ¢$ 100 | 8
RUIFLUEYMT ®50 m| 1
ANZHILBFT $ 100 | 17
AN=HIBEFT D T5LUTF A 4
ISUOHMFT $ 100 | 1
TSHFET ® 40 | 150
SR —k m 358.8
HKEERT HKERE H 0.18 358.7m/2,0008=0.179H
HUIRFHRET |HUHFHRET ®50 = 1
MENOFEERLAAES ® 50 m| 2
RY)IFLUEHMFET ® 50 A 2
RERET H=600 4 1
HERE L5'e 1
HAREBRET [HAREET @75 E-3 1
ANZHILBFT $ 100 | 2
AN=—HIBFT D T5LUTF A 1
ISUUHMFT @75 | 1
RERET H=600 4 1
BERE & 1




HwkgET HYRILDKREFREL RIER @100 % ¢ 20 e 1
RUZFLUERMAHT ®20 m 10
RUIFLUEHFT ®20 A 2
YRILDKRFEL EZILEAR ®40x ¢20 & 5
YRILDKRFEL EZILER $40x ¢ 25 & 1
MERCAAT @20 A 5
MERCAAT @25 A 1
RUIFLUEHFT ® 40 A 2
RUIFLUEHFT ®30 A 1
E-——ILEHmHT ®20 m 9.5
E-—ILEFmHZT 25 m 15
E-—ILEFmHZT ®30 m 15
TS#FT ® 20 A 34
TS#FT @25 A 6
TS#FT ®30 A 6
BRI —b W=150S m 8.0




T I # & *

£ L & | @ B # = ETHME
eSS
BoKEMETL $100 | BrED 055 m X 0785 m X 54.2 2340 m3
B R YE T ® 40 B EQ 055 m X 0708 m X 304.6 = 118.61 m3
a5t 23.40+118.61 = 14201 m3 142
. $100 | BrED 055 m X 0325 m X 54.2 = 9.69 m3
HWERLT , —
(REF o) ® 40 v ) 055 m X 0248 m X 304.6 = 4155 m3
a5t 9.69+41.55 = 51.24 m3 51
- $100 | #BrED 055 m X 0290 m X 54.2 = 8.64 m3
(%Ewﬁﬁf;t’l ® 40 v ) 055 m X 0290 m X 304.6 = 4858 m3
a5t 8.64+48.58 = 57.23 m3 57
BLET 142.01-57.23 = 84.78 m3 84
TERET t=10cm | RC-30 055 m X 358.8 m = 197.34 m2 197
LERET t=8cm M-30 055 m X 358.8 m = 197.34 m2 197
RAsEHET t=3cm $B AT 055 m X 3588 m = 197.34 m2 197
AIEIHAsEHET t=4cm ol 075 m X 358.8 m = 269.10 m2 269
AsEHE R I T t=15cmLLTF 358.8 % 4 = 143520 m 1435
AsEHEEhRBER T t=10cmELF 055 m X 3588 m = 197.34 m2 197
R AsE 2= iR Bl 1 T t=10cmELF 075 m X 3588 m = 269.10 m2 269
AsEHEEFERR -0 T 269.10 X 0.04+197.34 X 0.03 = 16.60 m3 17




HKEMZT B ERYE T H=600 | AsZfiit 055 m X 0.686 m 80 m = 3.02 m3 3.0
HWERLT HEFYT 055 m X 0226 m 80 m = 099 m3 1.0
BWIERLT H=600 055 m X 0290 m 80 m = 128 m3 1.3
KRIET 3.02-1.28 = 1.74 m3 1.7
TRERET t=10cm | RC-30 055 m X 80 m = 440 m2 4.4
LERET t=8cm M-30 055 m X 80 m = 440 m2 4.4
RAsEHEE T t=3cm FE L 055 m X 80 m = 440 m2 4.4
AIEIBAsEHET t=4cm R 075 m X 80 m = 6.00 m?2 6.0
AsEiZEhx ] T t=4cm 40x8 = 3200 m 32
AsERiZERRBERE T t=4cm 055 m X 80 m = 440 m2 4.4
R As T4 MR Bl 7 T t=3cm 075 m X 80 m = 6.00 m2 6.0
AsSHEFREW -0 T 6.60 X 0.04+4.40 X 0.03 = 0.39 m3 0.4




